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65 % LA t A a8 (N 0.76 0. 86
) H Bl T = A a8 (N 0. 60 0. 66
H ES A 8 N 1.29 1.28
FF 1) % =53 ( 8 F fF) (%) 78.3 78.2
ee ] 1% A (FM) 5,930 5,722
i s ES D i o O 57.4 59. 1
ik % E27) 1 & 15,017 16, 415
18 = i3 TH Jigs 4 3,317 2,799
b i@ £ 17 = 2,561 2,221
EEl (G ik & R 17 756 578
& bt M A i & 6, 030 7,833
& i@ Kl 17 £ 4,273 5, 646
Eil (G i 4 Bis 17 1, 756 2,187
%S i £ % AN ) 3,173 3, 409
H il E I 2,247 2, 268
7/ -V w L B B £ i 1, 689 1,904
B & /N R S S S = 414 339
g2 & F 3 & 8 F F 144 24
% D 1t 251 106
A & E27) 1E & 5,533 3, 828
5y b o - £ M oo 7= o A & 4,682 2, 996
A & PR H 2 (%) 39.5 38.0
Py b EE - Moo 2w o At (%) 28.1 26. 2
(/" #B) 20007 M BB o A & (%) 37.4 36.3

) H ) 5 = it H
4 g e H P 1,315 121
QLR G~ N (AN G 11 N o « NS ;- S| 1,276,118 87, 764
( 1 2l 4y e ) 10, 000 688
i Hr A g (N 3.31 3.24
18 % PR i A g N 0.94 0.77
65 % LA *+ A g N 0.27 0.39
) 15) s Tk # A g (N 0.14 0.26
H 3 A g N 1.67 1.61
Fr 15) F b2 ( B =F &) (%) 72.6 75. 1
(e il I A (FH) 6, 555 6, 165
Hr * D s e () 48. 4 50. 3
iy Z E27) 1E I 10, 316 12, 141
i} 15 P A [iss 4 2,475 1,979
3 i# £l 17 £ 1,963 1, 551
fil (G ik & &R 17 511 429
TE L1 s TH fr & 3, 683 5, 355
R & £ 17 5 2, 465 4, 000
EEN (£ i5s & R 17 1,218 1, 356
%o fn £ % 72 L 2,782 3, 360
H i 3 P 1,079 1, 401
K m X B & {F it 833 1, 092
S U7 S S SO |~ SR S < SR =S 167 267
g5 & E i & B OE 3 79 43
* D L 298 45
= & Bl 1E = 7,395 5, 131
9 b F F -+ Moo = o o A & 7,005 4, 845
.= 1% R H £ (%) 54. 1 48. 8
7 b fE £ + oo = o A E (%) 42.5 39.5
(/" #B) 20 7 M Lk o A F (%) 52.0 47.2
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